
236 - 113

2 3 6

311

Work out the subtraction using the chart and the column subtraction.



236 - 113

2 3 6

311

321

How did you do?



514 - 201

5

2 1

1 4

Have a go at this subtraction.



514 - 201

5

2 1

1 4

How did you do? Did you get 313?

313



674 - 142

4

4

76

1 2

Bob

235



674 - 142

4

4

76

1 2

Bob

Bob has written the calculation the wrong way around.  

The 674 should be on the top and the 142 on the bottom.

235



255 - 140

300255

100

We can use a number line to work out a subtraction.

Draw a number line with 255 at the end.



255 - 140

300255

100

We can use a number line to work out a subtraction.

We are going to make 2 jumps because 140 = 100 + 40 
so we’ll subtract 100 then 40.

First, let’s -100 from 255.

What is 255 – 100 = ?



255 - 140

300255

100

We can use a number line to work out a subtraction.

Did you get 255 – 100 = 155?

Now, the second jump will be the 40 left.  

What is 155 – 40 = ?



255 - 140

300255

100

We can use a number line to work out a subtraction.

Did you get 155 – 40 = 115

115

115



£250

Can you write a column subtraction or number line to work it out?



£250

Did you get 349? 
Did you use column subtraction or a number line?

H T O

5 9 9

- 2 5 0

3 4 9

-200-50

599399349



77

5

3

8

Start with: 

What number subtracted from 7 
equals 5?

7 - ? = 5.

Put the number in the box.



77

5

3

8

Did you get 2?
7 - 2 = 5.

If the triangle = 2, what number 
subtract 2 = 1?   

? – 2 = 1

2

22



77

5

3

8

Did you get 3?
3 – 2 = 1

If the star = 3, what is 7 subtract 3?
7 – 3 = ?

2

22

3

3

3



77

5

3

8

Did you get 4?
7 – 3 = 4

2

22

3

3

3

4

4



766 is the total.
115 is one part.
Find the other part.

So, 766 – 115  = ?

Use column subtraction or a 
number line to complete the 
calculation.

766

115



Did you get 651?

Which method did you use?

766 – 115  = 651.

766

115

H T O

7 6 6

- 1 1 5

6 5 1
766666656

-100-10-5

651


